Surname

Centre
Number

Candidate
Number

Other Names

~= GCSE
el IR TR i
thj)gg 4231/02 S15-4231-02
GEOGRAPHY
(Specification A)
HIGHER TIER

UNIT 1: Core Geography
P.M. TUESDAY, 19 May 2015

1 hour 45 minutes

For Examiner’s use only
Question Ma“)n(iarplrm Av'\\lnaar:iked
1. 15
2, 15
3. 15
4, 15
5. 15
6. 15
Total 90

INSTRUCTIONS TO CANDIDATES

Use black ink or black ball-point pen.

Write your name, centre number and candidate number in the spaces at the top of this page.

Answer all questions.

Write your answers in the spaces provided in this booklet. Where the space is not sufficient for
your answer, continue the answer at the back of the book, taking care to number the continuation

correctly.

INFORMATION FOR CANDIDATES

The number of marks is given in brackets at the end of each question or part-question.
You are reminded that assessment will take into account the quality of written communication used

in your answers that involve extended writing.

© WJEC CBAC Ltd.

VP*(S15-4231-02)

4231
020001



(@) Study the map below.

Answer all questions.

Theme 1 — Water

Properties at risk of flooding in Greater London
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(i) There are 16,000 properties in Redbridge at risk of flooding. Complete the map by

(ii)

applying the correct shading for Redbridge. 1]

Describe the distribution of properties at risk of flooding in Greater London. [3]
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(b)

Study the photograph below.

(i)

(ii)

Name and describe one river landform shown in the photograph. [2]
Landform e

Name and describe one process by which rivers erode the land. 2]
ProCeSsS ..o

Give one piece of photographic evidence which suggests that this area is popular
with tourists. 1]
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Examiner
|
(c) Explain why rivers can have negative effects on the lives of people. [6] o

Use examples to help your answer.
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Theme 2 — Climate Change

2. (a) Study the photographs and map below.

Athabasca Glacier, Jasper National Park, Canada

Source (a)
1919
Source (b)
0 E?O 01 02 03 04 05 0606
KEY
‘ Fo] Location or:‘
Position of camera where
glacier in 1870 both photographs
05} j) 05 were taken
Recession or melt-ba X Iésﬁe]d Jd 1 Footpath
of the glacier over (ter',‘?é’ %ﬁ;j;‘
the last 100 years — Road
04 04
POSItlon Of Sun{\;veg;tgns)ake Vegetat|0n
glacier today
Ice
03 03
02 WARNING: 02
(ff,‘io"f,,’evgg‘c’{f, Parkingtot
Wifodi el Little A
experienced guide Glacier Boundary
Glacier
01 01
N
Hanging
Z, Glacier " ﬂ"l”‘;’“”t
00 // 7, (3,393fnc)a 00 0 1km
00 01 02 03 04 05 06

© WJEC CBAC Ltd.

(4231-02)




(i) In what direction was the camera facing when the photographs were taken? 1]

(i) Describe the changes in the Athabasca Glacier since 1870. [3]

(i) Use map evidence to suggest how changes in the Athabasca Glacier may affect
the lives of people who work in this area. [2]

(b) Explain how one piece of evidence, other than melting ice, supports the idea that climate
change is taking place in a different part of the world. [3]
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(c) Describe how the natural greenhouse effect warms the Earth’s atmosphere and how o

people’s actions are affecting this process. [6]
You must draw an annotated diagram below to help your answer.
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3.

Theme 3 — Living in an Active Zone

(@) Study the map below.

A tsunami is a powerful wave that can be triggered by an earthquake

Pacific Ocean Tsunami, March 2011
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(i) Use the map to calculate the time it took the tsunami wave to reach Hawaii. [1]

(i)  Calculate the distance from the epicentre of the earthquake to Hawaii. [1]

(i)  Use evidence from the map to describe the changes in the height of the tsunami
wave as it moved away from Japan. [2]
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10

Study the photograph which shows the impact of the tsunami on the coast of Japan.

(iv) Use evidence in the photograph only to describe one way in which the tsunami
affected the lives of people who live in the coastal areas of Japan. 2]

(b) Explain why many people continue to live in areas which are affected by hazards
associated with earthquakes. [3]
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11

(c) Explain the formation of any large scale feature (such as a rift valley or ocean trench) that
has been formed by plate movement. [6]
You must use an annotated diagram to help your answer.

Name of 1andform: ..o
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Theme 4 — Changing Populations o
4. (a) Study the map below. It shows India, a country in South Asia.
Population change in India (2001-2011)
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KEY:
% Population change
from 2001 to 2011
30°N - +20.1 and above

30°N [ ]+10.1t0+20
I 0 to +10
- Loss
|:| No data

120°N
20°N
§
2 . 10°N
10°N Kerala r ? ‘Ah
: 0 500 1000
kilometres
70°E 80°E 90°E
(i) Give the latitude and longitude of Mumbai. 1]
.......................................... °N . O E
(i) Describe the pattern of population change in India between 2001 and 2011. [4]
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(b)  Study the table below.

13

Development Indicators Kerala | India as a whole UK
Infant Mortality (per 1,000 live births) 14 70 6
Female Literacy Rate (%) 85 57 99
% Use of contraceptives by married women (all methods) 64 48 75
Choose two development indicators from the table.
Use this information to help explain why Kerala has a low population growth rate. [4]
INAICATON T e
INAICALON 2 e
(c) Explain why some parts of the world are densely populated. [6]
Use one or more examples to help your answer.
© WJEC CBAC Ltd. (4231-02) Turn over.
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Theme 5 — Globalisation

5. (a) Study the information below.

Worldwide distribution of the electronics company, Apple

Number of Apple stores
@ Apple main facilities . y.
@ Final assembly locations i

@ Component suppliers
(companies who make parts for Apple products)

(i) Describe the distribution of component suppliers. [3]
(i) Suggest reasons to explain the distribution of component suppliers. [4]
© WJEC CBAC Ltd. (4231-02) Turn over.
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(b) (i) Explain how one named change in technology has allowed increased globalisation o
of human activities. 2]
Change iN tECNNOIOGY ...
EXPIANGTION ..o
(i)  Explain why some people see increased globalisation as a threat. [6]

An anti-globalisation protest in the USA
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Theme 6 — Development

(@) Study the graph below. It shows HDI which measures wealth, education and health. It is
scored out of 1.0. Places with a higher score have a higher standard of living.

Changes in Human Development Index (HDI) (1980-2010)
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(i) Compare the change in HDI of India and the Democratic Republic of Congo between
1980 and 2010. [2]
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(b)  Study the scattergraph below.
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(i) Give the mean number of years in school of children in the Democratic Republic of
Congo. [1]

(i) Describe the relationship between mean number of years in school and GDP per
person shown on the scattergraph. [3]
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(c)

A number of non-governmental organisations (NGOs), such as Save the Children,
work in countries such as the Democratic Republic of Congo.

Describe how non-governmental organisations can help sub-Saharan countries improve
the standard of living of people living in those countries. [6]

END OF PAPER
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